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' Section 0 - "Estimated Position" Section 2 - "Observed Altitude"

Estlat @5 9 L AS—" Hs "12 = ZS: 4 cel.obi,
| EstLon E@ 6_6“ W 1E * PS £ app.dir: ‘

f e Dip - ﬁf r
Section 1 - "Time of Observation” #
Date 2?!.-"'6-*'19 "&i Ha "13 ” '25— 4 -
Chronometer "(gh 4‘1‘3 m 3#‘6‘5 5 5D + Q/ . EE:: -f::E : N/ |

«ZCOE

i+

Local Time h m 5 "12 > 28 B

Time Zone : O Prilx + fe &K o e @ g
UTo A ‘{gmgﬁs Ho dg X 23 'S

Section 3 - "Nautical Almanac”

GHA(NA) 258 34 A ddein <+ 2@ P(ddGHA) QP FO 4
dHA - 3 ® z_ﬁ, =9 - fMin d'?:.m %E&s pliMin) %@.{3’84
Interp .+- G ’8 <— lsign of ddGHA]  <-- 50 ) 43 8 ?5‘ |

GHA ?--“' ﬂ "4 At UTa i
|

ﬂsm ,ﬁa Refr - '2 ) mg&hﬁ,@ mﬂﬂl

vecivm) N 3 - 2908 dvec A~ @52 plavec ) A@FG4

fMin AL m3P s pifmin) Q_Cagggg
| Interp +— P’ '?- €= lsign of dbec § <-- sl ) gq 8_-]- S ‘

| Deo N@ '3:. " '2_4 f ? at UTo

‘ Section 4 - "Sight Reduction”
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Section 5- "Line of Position"
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Sight-Reduction Worksheet for Ageton's Method 1op = I P[-&eﬁ

Section 4 - "Sight Reduction"
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Remarka and Instcuctions
(0} 'Use the appropriate signs for Latitude; Longitude and Declinatlsn:
positive for N and £, negative for 5 and W

(1} The meridian angle "t" is caleoulated from "LHA" according to the following rule:
{f LHN < 18§° v - LA '
if LHA > 1807 T 1807 - LHA

(4] The sign of the Latitude of "Q" (N/5) depends on the values of "t" and "Dec":
| v 5 R o R g Latd ‘has the same sign as Dec

| i1f ||E| =;oQ* LatQ has the contrary sign of Dec

Where |t] is the absolute value of "t

t3) The value of "dkat" must be calculated taking the correct signs for "LatBF" and "LATO" inte
into account. The resulting sign of "dLat” should be recorded correcly (see remack 7).

{7} Select one out of four cases, depending on the value of "|t|" and the sign of "dhat" to

determine how to seiw he walue of "2" from the Tables:
I (R~ el > 500 |
dLat | | - | + |
Z | < ap® | | > 90" | ol | 1 |

if ¥ < 90" gelect E . fro top line' - left column of ‘the Table

if % > 90° select 2 from the bottom line - rfight ‘column of the Table

{8) The true Azimuth "Z¢" is obtailned from 2" depending on the =slgn of "p*:
1f £ >0 Zc = & (GF iz East of HP}
1f £ = 0 Zc = 3807 - B {GP i3 West of EB})
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